mean # PXL hits vs eta

<pixel hits>
a1

Ratio

0.95

0 1 2

| mean

# PXL Layers with measurement vs eta

<pixel layers>
N w »
N a1 w a1 s a1

=
NS

o
o

.....................................................................

o

Rati

-

0.95

T T =g rr1
|
N

—=— DQM_mKFIt_TTorigmal

—e— DQM_mKFit_TT_pL

mean # STRIP hits V| _, . DQM_mkFit_TT_pLW

<strip hits>

—.— DQM_mKkFit_TT_pLW_1H

+++a++++++++++++++++w++++ﬂy

0 1 2 3

<strip layers>
\'

.....................................................................

S5>1T o 1 2 3



	Contents
	Page 1


